
  

 

 

U.G. DEGREE EXAMINATION - JULY 2022 

Corporate Secretaryship/Accounting Finance 

(From CY 2020 to AY 2020 - CY 2021) 

Second Year 

CORPORATE ACCOUNTING 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five Questions. 

1. What do you mean by mean by share capital? 
 £[S ‰»uÚ® GßÓõÀ GßÚ? 

2. Explain briefly the redemption of preference 
share. 

 •ßÝ›ø© £[Qß «mø£ _¸UP©õP ÂÍUPÄ®. 

3. State the objectives of Financial Statement. 
 {v AÔUøPPÎß ÷|õUP[PøÍU SÔ¨¤hÄ®. 

4. Briefly explain the concept of purchase 
consideration. 

 öPõÒ•uÀ £›^»øÚ°ß P¸zøu _¸UP©õP 

ÂÍUPÄ®. 

 UG-A-1158 BCS21X–
  BAF21X
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5. Who is a Company liquidator? 

 {Ö©U Pø»¨£õÍº Gß£Áº ¯õº? 

PART B — (3  7 = 21 marks) 

Answer any THREE questions out of Five Questions. 

6. X Ltd issued 50,000 equity share of Rs.10 each to 
the public on condition that full amount of share 
will be paid in a lumpsum. All these shares were 
taken up and paid by the public. Pass Journal in 
the books of a company when  

 (a) shares issued at par 
 (b) shares issued at 10% discount. 

 X Ltd ¹.10 ß Ãu® 50,000 \› J¨¦¨ £[SPÒ ö£õx 

©UPÐUS ÁÇ[Q¯x. C¢u £[SPÒ 

AøÚzx®ö£õx ©UPÍõÀ GkUP¨£mk 

ö\¾zu¨£mkÒÍx. {ÖÁÚzvß ¦zuP[PÎÀ 

£zv›UøP EÒÏkPøÍ AÝ¨£Ä®. 
 (A) £[SPÒ \©©õP ÁÇ[P£kQßÓÚ 

 (B) £[SPÒ 10% uÒÐ£i°À ÁÇ[P£kQßÓÚ. 

7. M Ltd has as part of its share capital as  
5000 redeemable preference share of Rs.100 each. 
When the shares became due for redemption the 
company decided that the whole amount will be 
redeemed out of fresh issue of equal amount of 
equity share of Rs.10 each. 

 Show the journal entries in the books of accounts 
of company. 
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 M Ltd Auß £[S ‰»ÚuÚzvß J¸ £Svø¯ 5000 
›j® ö\´¯UTi¯ •ßÝ›ø© £[PõP u»õ ¹.100 

öPõskÒÍx. £[SPÒ «m£uØPõÚ {¾øÁz 

öuõøP¯õP ©õÔ¯x®. u»õ ¹.10 \©©õÚ J¨¦ £[Qß 

¦v¯ öÁÎ±miÀ C¸¢x •Êz öuõøP²® 

«möhkUP¨£k® GßÖ {ÖÁÚ® •iÄ ö\´ux. 

{ÖÁÚzvß ¦zuP[PÎÀ £zv›øP EÒÏkPøÍU 

Põmk. 

8. The following are the relevant balances extracted 
from the books of a company. You are required to 
calculate the remunerate of the Managing 
Director at 5% of the net profit after charging 
some commission. 

 Net profit – Rs.38,786 

 Items considered for arriving at the above profit. 

 → Provision for taxation – Rs.30,000 

 → MD remuneration – Rs.12,000 

 → Preliminary expenses written off – Rs.4,000 

 → Depreciation inadmissible – Rs.2,880  

 J¸ {ÖÁÚzvß ¦zuP[PÎÀ C¸¢x 

¤›zöukUP¨£mh öuõhº¦øh¯ {¾øÁ 

¤ßÁ¸©õÖ : 

 AzuøP¯ PªåøÚ Á`¼zu ¤ÓS, {Pμ »õ£zvÀ 5% 

{ºÁõP C¯USÚ›ß Fv¯zøu }[PÒ PnUQh 

÷Ásk® 

 {Pμ C»õ£® – ¹.38,786 
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 ÷©÷» EÒÍ »õ£zøu¨ ö£ÖÁuØSU P¸u¨£k® 

ö£õ¸mPÒ : 
 → Á›Âv¨¦UPõÚ HØ£õk – ¹.30,000 
 → {ºÁõP C¯USÚº Fv¯® – ¹.12,000 
 → §ºÁõ[P ö\»ÄPÒ GÊu¨£mhÚ – ¹.4,000 
 → HØÖUöPõÒÍzuUP ©v¨¤À ÷u´©õÚ® –    

      ¹.2,880 

9. Ram Ltd agreed to take over the assets of Sam Ltd 
worth Rs.35,000 at 10% more than the book value. 
It agreed to take over creditors amounted to 
Rs.3,000. The purchase price was to discharge as 
to Rs.5,500 in cash and the balance in Rs.10 each 
equity share. Calculate Purchase consideration. 

 μõ® Ltd ¹.35,000 ©v¨¦ÒÍ \õ® Ltd Cß 

ö\õzxUPøÍ ¦zuP ©v¨ø£ Âh 10% AvP©õP 

GkzxU öPõÒÍ J¨¦UöPõshx. öPõÒ•uÀ Âø» 

öμõUP©õP ¹.5,500 BPÄ® «vz öuõøP ¹.10 

JÆöÁõ¸ \©{ø» £[PõPÄ® C¸¢ux. C¢{ÖÁÚ® 

¹.3,000 ©v¨¦ÒÍ PhÚõÍºPõP GkzxU öPõÒÍ 

J¨¦UöPõshx. öPõÒ•uÀ P¸zvÀ ©v¨ø£ 

PnUQkP. 

10. Assets realised Rs.1,20,000. Preferential creditors 
Rs.12,000. Unsecured creditors Rs.1,50,000. 
Calculate liquidators remuneration at 2% on 
assets realised and 3% on amount paid to 
unsecured creditors. 

 ö\õzxPÒ ©v¨¦US ¹.1,20,000. •ßÝ›ø© 

÷Ámøh¯õk£ÁºPÒ ¹.12,000, £õxPõ¨£ØÓ 

PhÚõÎPÒ ¹.1,50,000 ö£Ó¨£mh ö\õzvÀ «x 2% 

©ØÖ® £õxPõ¨£ØÓ PhÚõÎPÐUS ö\¾zu¨£k® 

öuõøP°À 3% GÚ Pø»¨£õÍº Fv¯zøu 

PnUQk[PÒ. 
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PART C — (4  10 = 40 marks) 

Answer any FOUR questions. 

11. The following understanding takes place : 
 A – 6000 shares 
 B – 2500 shares 
 C – 1500 shares. 

 In addition the firm is underwriting : 
 A – 800 shares 
 B – 300 shares 
 C – 1000 shares. 

 The issue is for 10000 shares. Total Subscription 
firm underwriting is for 7000 shares and the 
applications include the following marked forms : 

 A – 1000 shares 
 B – 2000 shares 
 C – 500 shares. 

 Show the allocation of liability of the underwriters 
if the firm underwritten shares as treated as 
unmarked applications. 

 ¤ßÁ¸® GÊzxÖv |øhö£ÖQÓx 

 A – 6000 £[SPÒ 
 B – 2500 £[SPÒ 
 C – 1500 £[SPÒ. 

 Tku»õP {ÖÁÚ GÊzxÖv ¤ßÁ¸©õÖ : 

 A – 800 £[SPÒ 
 B – 300 £[SPÒ 
 C – 1000 £[SPÒ. 
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 öÁÎ±k 10000 £[SPÐUPõÚx {ÖÁÚzvß 

GÊzxÖv Em£ ö©õzu \¢uõ 7000 £[SPÐUPõÚx 

©ØÖ® Âsn£[PÎÀ ¤ßÁ¸® SÔUP¨£mh 

£iÁ[PÒ EÒÍÚ : 

 A – 1000 £[SPÒ 

 B – 2000 £[SPÒ 

 C – 500 £[SPÒ. 

 EÖv¯ÎUP¨£mh £[SPÒ SÔUP¨£hõu 

Âsn¨£©õPU P¸u¨£mhõÀ, J¨£¢uuõμºPÎß 

ö£õÖ¨¦ JxURmøhU PõmhÄ®. 

12. Z Ltd which was incorporated on May 1, 2009 
acquired a business on January 1, 2009. The first 
accounts were closed on September 30, 2009. The 
gross profit for the period was Rs.42,000.  

 The details of other expenses : Rs. 

 General expenses    7,200 

 Directors remuneration    12,000 

 Preliminary expenses   2,000 

 Rent upto June 30 was Rs.6,000 per annum after 
which it was increased by 40%. Salary of the 
manager who on formation of a company had 
become a whole time director and whose 
remuneration was at Rs.5,100 per annum, before 
incorporation. The company earned an uniform 
gross profit. The sales upto September 2009 were 
Rs.98,000. The monthly average sale for the first 
four month was one half of that of remaining 
period. Show the profit and loss account. 
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 ÷© 1, 2009 CÀ CønUP¨£mh Z Ltd áÚÁ› 1, 2009 

AßÖ J¸ ÁoPzøu Áõ[Q¯x. •uÀ PnUSPÒ 

ö\¨h®£º 30, 2009 AßÖ ‰h¨£mhÚ C¢u ö©õzu 

»õ£® ¹.42,000 

 ©ØÓ ö\»Âß ÂÁμ[PÒ :  ¹. 

 ö£õx ö\»ÄPÒ    7,200 

 C¯USÚºPÎß Fv¯®    12,000 

 Bμ®£ ö\»ÄPÒ    2,000 

 30, áúß ©õu® Áøμ ÁõhøP BskUS ¹.6,000 BP 

C¸¢ux. Auß ¤ÓS 40% AvP›UP¨£mhx. 

{ÖÁÚzøu E¸ÁõUS® ÷£õx •Ê ÷|μ C¯US|μõP 

C¸¢u ÷©»õÍ›ß \®£Í® Cøn¨£uØS •ß 

BskUS ¹. 5,100 Fv¯®. {ÖÁÚ® J÷μ 

©õv›¯õÚ ö©õzu »õ£zøu¨ ö£ØÓx. ö\¨h®£º 

2009 Áøμ°»õÚ ÂØ£øÚ  

¹. 98,000. •uÀ |õßS ©õu[PÐUPõÚ ©õuõ¢vμ 

\μõ\›  ÂØ£øÚ «u•ÒÍ Põ»zvß £õv¯õP 

C¸¢ux. »õ£ |èhU PnUøP PõmkP. 

13. Mahatma Gandhi Ltd. is a company with an 
authorised capital of Rs. 5,00,000 divided into 
5000 equity shares of Rs. 100 each on 31.03.2015 
of which 2500 shares were fully called up. The 
following are the balance from the ledger as on 
31.03.2015. 



 UG-A-1158 8

Trial balance  
Debit balance  Rs.  Credit balance  Rs. 

Opening stock  50,000 Sales  3,25,000

Purchases  2,00,000 Discount received 3,150

Wages  70,000 Profit and loss a/c 6,220

Discount allowed  4,200 Creditors  35,200

Insurance (upto 30.6.15) 6,720 Reserves  25,000

Salaries  18,500 Loan from MD 15,700

Rent  6,000 Share capital  2,50,000

General expenses  8,950  

Printing and stationery  2,400  

Advertisement  3,800  

Bonus  10,500  

Debtors  38,700  

Plant  1,80,500  

Furniture  17,100  

Bank  34,700  

Bad debts  3,200  

Calls in arrears  5,000  

 6,60,270  6,60,270

 You are required to prepare statement of profit 
and loss for the year ended 31.3.2015 and balance 
sheet as on date. The following further 
information is given. 
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 (a) Closing stock was valued at Rs. 19,500  
 (b) Depreciation on plant at 15% and on 

furniture at 10% should be provided 
 (c) A tax provision of Rs. 8,000 is considered 

necessary 
 (d) The directors declared on interim dividend 

for six months ending 30.09.2015 at 6% 
 (e) Provide for corporate dividend tax at 17% 
 ©Põz©õ Põ¢v ¼ªöhm {ÖÁÚzvÀ 

A[RP›UP¨£mh ‰»uÚ® ¹.5,00,000, 5000 \© 

£[SPÍõP ¤›UP¨£mhøÁ ¹. 100 JÆöÁõßÖ® 

31.03.15 AvÀ 2,500 £[SPÒ •Êø©¯õP 

AøÇUP¨£mhÚ.  

 31.03.2015 ÷uv {»Áμ¨£i ö»má›À C¸¢x 

{¾øÁz öuõøP ¤ßÁ¸©õÖ : 

C¸¨£õ´Ä 

£ØÖ ¹. ÁμÄ ¹. 

öuõhUP \μUQ¸¨¦ 50,000 ÂØ£øÚ 3,25,000
öPõÒ•uÀ 2,00,000 ö£ØÓ uÒÐ£i 3,150
T¼ 70,000 C»õ£ |mh P/S 6,220
uÒÐ£i AÝ©vzux 4,200 PhÜ¢÷uõº 35,200
Põ¨¥k (30.6.2015) Áøμ 6,720 Põ¨¦ 25,000
\®£Í® 18,500 ÷©»õsø© 

ÁõhøP 6,000 C¯US|›hª¸¢x

ö£õx ö\»Ä 8,950 ö£ØÓ Phß 15,700
Aa_ ©ØÖ® GÊxö£õ¸ÒPÒ 2,400 £[S ‰»uÚ® 2,50,000
ÂÍ®£μ[PÒ 3,800 
\¾øP 10,500 
PhÚõÎPÒ 38,700 
ö£õÔ 1,80,500 
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AøÓP»ß 17,100 
Á[Q 34,700 
ÁμõUPhß 3,200 
AøÇ¨¦ {¾øÁ 5,000 
  

 6,60,270 6,60,270

 31.03.2015 B® ÷uv°ß RÌ BsiØPõÚ »õ£® 

©ØÖ® |èhU AÔUøP ©ØÖ® ÷uv°ß£i 

C¸¨¦{ø» AÔUøPø¯ }[PÒ u¯õ›UP ÷Ásk®. 

 ÷©¾® ¤ßÁ¸® uPÁÀPÒ öPõkUP¨£mkÒÍÚ. 

 (A) ‰k £[S ©v¨¦ ¹. 19,500 C¸¢ux. 

 (B) Bø»US 15% ©ØÖ® ©μa\õ©õßPÒ «x 10% 

÷u´©õÚ® ÁÇ[P¨£h ÷Ásk®. 

 (C) ¹. 8,000 Á› Âv¨¦ AÁ]¯©õPU 

P¸u¨£kQÓx 

 (D) C¯US|ºPÒ 30.09.2015 B® ÷uv²hß  

6 ©õu[PÐUS CøhUPõ» DÄzöuõøPø¯ 6% 

GÚ AÔÂzuÚº. 

 (E) Põº¨£÷μm  iÂöhsm Á›ø¯  17% ÁÇ[PÄ®.  

14. Explain in detail various methods of calculating 
purchase consideration. 

 öPõÒ•uÀ £›^»øÚø¯ PnUQkÁuØPõÚ £À÷ÁÖ 

•øÓPøÍ Â›ÁõP ÂÍUS[PÒ. 
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15. Mohana Ltd went into voluntary liquidation on 
1.3.2007. The following balances are extracted 
from its book on the date. 

Liabilities  Rs.  Assets   Rs. 

50000 equity share  Building   1,50,000

 of Rs. 10 each   5,00,000 Plant and machinery  2,10,000

Debentures  2,00,000 Stock in trade   95,000

Bank overdraft  30,000 book debts  75,000

Creditors  40,000 (–) provision for BOD 10,000 65,000

  Calls in arrears   1,00,000

  Cash in hand   10,000

  Profit and loss a/c   1,40,000

 7,70,000   7,70,000

 Plant and machinery and building are valued at 
Rs. 1,50,000 and Rs. 1,20,000 respectively. On 
realization losses of Rs. 15,000 are expected on 
stock. Book debts will realise Rs. 70,000. Calls in 
arrear are expected to realise 90%. Bank overdraft 
is secured against building. Preferential creditors 
for taxes and wages are Rs. 6,000 and 
miscellaneous expenses outstanding Rs. 2,000. 
Prepare a statement of affairs to be submitted at 
the meeting of creditors. 

 ÷©õPÚõ ¼ªöhm 01.03.2007 AßÖ ußÚõºÁ 

Pø»¨¦US ö\ßÓx. AßøÓ¯ ÷uv°À Auß 

¦zuP[PÎ¼¸¢x ¤ßÁ¸® {¾øÁPÒ 

¤›zöukUP¨£mhÚ.  
ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ  ¹. 

50,000  \©E›ø©¨  Pmih®  1,50,000
£[SPÒ ¹. 10 Ãu® 5,00,000 ö£õÔ ©ØÖ® C¯¢vμ®  2,10,000
Phß £zvμ[PÒ 2,00,000 \μUQ¸¨¦  95,000
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Á[Q ÷©ÀÁøμ¨£ØÖ 30,000 HmkUPhßPÒ 75,000

PhÜ¢÷uõºPÒ 40,000 PÈ :  JxURk 10,000 65,000

  AøÇ¨¦ {¾øÁ  1,00,000

  øP°À öμõUP®  10,000

  C»õ£ |mhU P/S  1,40,000

 7,70,000   7,70,000

 Bø» ©ØÖ® C¯¢vμ® ©ØÖ® Pmih[PÒ ©v¨¦  

¹. 1,50,000 ©ØÖ® ¹. 1,20,000. £[SPÎÀ  

¹. 15,000 CÇ¨¦ HØ£k® GÚ  Gvº£õºUP¨£kQÓx. 

¦zuP PhßPÒ ¹. 70,000. Dmh¨£k® Á› ©ØÖ® 

Fv¯[PÐUPõÚ •ßÝ›ø© Phß ÁÇ[S£ÁºPÒ 

¹. 6,000 ©ØÖ® Cuμ ö\»ÄPÒ {¾øÁ°À ¹. 2,000 

PhÚÎ¨£ÁºPÎß TmhzvÀ \©º¨¤UP ÷Ási¯ 

ÂÁPõμ[PÎß AÔUøPø¯z u¯õ›UPÄ®. 

16. Describe in detail modes of winding up of 
company. 

 J¸ {ÖÁÚzøu ‰kÁuØPõÚ Â›ÁõÚ •øÓPøÍ 

ÂÁ›UPÄ®. 

17. What do you mean by underwriting? Explain in 
details various types of underwriting agreement. 

 Ashºøμmi[ Gß£uß Aºzu® GßÚ? £À÷ÁÖ 

ÁøP¯õÚ GÊzxÖv J¨£¢uzøu Â›ÁõP 

ÂÍUPÄ®. 

—————— 



  

 

 

U.G DEGREE EXAMINATION —  
JULY 2022. 

Corporate Secretaryship 

[CY 2020 & AY 2020 Batches onwards] 

Second Year 

COMMERCIAL LAW AND INDUSTRIAL LAW 

Time : 3 hours Maximum marks : 70 

SECTION A — (3  3 = 9 marks) 

Answer any THREE questions. 

1. Define contract. 

 J¨£¢uzøu Áøμ¯ÖUP. 

2. What do you mean by Breach of contract? 

 J¨£¢u «ÓÀ GßÓõÀ GßÚ? 

3. What is sale of goods? 

 ö£õ¸mPÎß ÂØ£øÚ GßÓõÀ GßÚ? 

4. State the purpose of Factory’ act 1948. 

 öuõÈØ\õø»PÒ \mhzvß ÷|õUPzvß SÔ¨¤hÄ®. 

 UG-A-1159 BCS-22X
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5. Write short notes on employee state insurance act. 

 £o¯õÍº ©õ{» Põ¨¥mka \mh® SÔ¨¦ ÁøμP. 

PART B — (3  7 = 21 marks) 

Answer any THREE questions. 

6. Briefly explain the concept of contingent contract. 

 uØö\¯À J¨£¢uzvß P¸zøu _¸UP©õP ÂÍUPÄ®. 

7. Write short notes on Bailment and pledges. 

 áõ«ß ©ØÖ® EÖvö©õÈPÎß ]Ö SÔ¨¦PøÍ 

GÊxP. 

8. What is agreement to sell? Explain. 

 ÂØ£øÚ J¨£¢u® Gß£øu ÂÍUPÄ® 

9. What are the main purpose of Factory’s act? 

 öuõÈØ\õø»PÒ \mhzvß •UQ¯ ÷|õUP® GßÚ? 

10. Describe the workmen’s compensation act briefly. 

 öuõÈ»õÍºPÎß CÇ¨¥mka \mhzøu _¸UP©õP 

ÂÍUSP. 

PART C —  (4  10 = 40 marks) 

Answer any FOUR questions. 

11. What is contract? What are the various types of 
contract? 

 J¨£¢u® GßÓõÀ GßÚ? £À÷ÁÖ ÁøP¯õÚ 

J¨£¢u[PÒ ¯õøÁ? 
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12. What do you mean by termination? Explain 
various forms of termination. 

 £o}UP® Gß£uß Aºzu® GßÚ? £o}UPzvß 

£À÷ÁÖ ÁiÁ[PøÍ ÂÍUS[PÒ. 

13. Explain in detail the objectives of factories act. 
 öuõÈØ\õø» \mhzvß ÷|õUP[PøÍ Â›ÁõP 

ÂÍUPÄ®. 

14. Discuss the procedure for performance of contract 
of sale. 

 ÂØ£øÚ J¨£¢uzøu {øÓ÷ÁØÖÁuØPõÚ 

|øh•øÓ £ØÔ ÂÁõvUPÄ®. 

15. What are the procedures to get workmen’s 
compensation? 

 öuõÈ»õÍºPÒ CÇ¨¥k ö£ÖÁuØPõÚ |øh•øÓPÒ 

¯õøÁ? 

16. Write short notes on  
(a) Contract of indemnity 
(b) Contract of guarantee 

 ]Ö SÔ¨¦PPøÍ GÊxP. 

(A) CÇ¨¥k J¨£¢u® 

(B) EzvμÁõu J¨£¢u® 

17. Explain in detail the content of Industrial 
displaces act. 

 öuõÈÀ uPμõÖPÐUPõÚa \mhzvß EÒÍhUPzøu 

Â›ÁõP ÂÍUPÄ®. 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION - JULY, 2022 

Corporate Secretaryship 

(From CY – 2020 onwards) 

Second Year 

BUSINESS STATISTICS 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions each in 100 words 

1. Write short notes on collection of data.  

 uμÄ ÷\P›¨¤À ]Ö SÔ¨¦PøÍ GÊuÄ®. 

2. What do you mean by quartile deviation? 

 Põ»õsk Â»PÀ GßÓõÀ GßÚ? 

3. Define index number. 

 SÔ±mk Gsøn Áøμ¯ÖUPÄ®. 

 UG-A-1160 BCS–23X
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4. Briefly explain the concept of regression. 

 ¤ßÚøhÄ P¸zøu _¸UP©õP ÂÍUSP.  

5. List out the components of time series. 

 ÷|μz öuõh›ß TÖPøÍ £mi¯¼hÄ®. 

PART B — (3 × 7 = 21 marks) 

Answer any THREE questions 

6. Explain briefly the concept of harmonic mean with 
its merits and demerits.  

 Cø\a \μõ\› P¸zøu Auß uSvPÒ ©ØÖ® 
wø©PÐhß _¸UP©õP ÂÍUPÄ®. 

7. Fit a trend line by the method of semi-averages for 
the given data. 

Year :  2000 2001 2002 2003 2004 2005 2006

Production : 105 115 120 100 110 125 135

 öPõkUP¨£mh uμÄUPõÚ Aøμ&\μõ\› •øÓ°ß 
‰»® J¸ ÷£õUS ÷PõmiøÚ¨ ö£õ¸zuÄ®. 

Bsk :  2000 2001 2002 2003 2004 2005 2006

EØ£zv : 105 115 120 100 110 125 135
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8. Construct the price index number for 2003, taking 
the year 2000 as base year 

Commodity  Price in the  
year 2000 

Price in the 
year 2003 

A 60 80 

B 50 60 

C 70 100 

D 120 160 

E 100 150 

 2000 B® Bsøh Ai¨£øh BshõPU öPõsk 
2003 B® BsiØPõÚ Âø»U SÔ±mk Gsøn 
E¸ÁõUPÄ®. 

ö£õ¸Ò  2000 B® Bsiß 
Âø» 

2003 B® Bsiß 
Âø» 

A 60 80 

B 50 60 

C 70 100 

D 120 160 

E 100 150 

9. Calculate the regression coefficient and obtain the 
lines of regression for the following data : 

X 1 2 3 4 5 6 7 

Y  9 8 10 12 11 13 14 
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 ¤ßÚøhÄ SnPzøuU PnUQmk, ¤ßÁ¸® 
uμÄUPõÚ ¤ßÚøhÄ Á›PøÍ¨ ö£ÓÄ®. 

X 1 2 3 4 5 6 7 

Y  9 8 10 12 11 13 14 

10. In a class of 50, 4 students were selected at 

Random and their total marks in the final 

assessments are recorded, which are 812, 836, 

982, 769. Find the standard deviation of their 

marks. 

 50  ÷£º öPõsh ÁS¨¤À, 4 ©õnÁºPÒ ^μØÓ 

•øÓ°À ÷uº¢öukUP¨£mhÚº ©ØÖ® CÖv 

©v¨¥miÀ AÁºPÎß ö©õzu ©v¨ö£sPÒ £vÄ 

ö\´¯¨£mkÒÍÚ. AøÁ 812, 836, 982, 769. 

AÁºPÎß ©v¨ö£sPÎß {ø»¯õÚ Â»Pø»U 

PshÔ¯Ä® 

PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions. 

11. Define business statistics. Explain in detail the 
function of business statistics. 

 ÁoP ¦ÒÎ ÂÁμ[PøÍ Áøμ¯ÖUPÄ®. ÁoP 
¦ÒÎ ÂÁμ[PÎß ö\¯À£õmøh Â›ÁõP 
ÂÍUPÄ®. 
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12. Obtain regression equation of Y  on X  and 
estimate Y  when 55=X  from the following  

X  40 50 38 60 65 50 35

Y 38 60 55 70 60 48 30

 X CÀ Y  Cß ¤ßÚøhÄ \©ß£õmøh¨ ö£ÓÄ®. 

¤ßÁ¸ÁÚÁØÔ¼¸¢x 55=X  BP C¸US®÷£õx 

Y I ©v¨¤hÄ®.  

X  40 50 38 60 65 50 35

Y 38 60 55 70 60 48 30

13. (a) Find the population standard deviation of 
the data set {1, 3, 6, 7, 12} 

 (b) Find the sample variance of the data set  
{2, 6, 12, 15} 

 (c) Find the range and coefficient of range of the 
data set {8, 12, 5, 6, 8, 2, 15}  

 (A) {1, 3, 6, 7, 12} uμÄz öuõS¨¤ß ©UPÒ 
öuõøP {ø»¯õÚ Â»Pø»U PshÔ¯Ä®. 

 (B) uμÄz öuõS¨¤ß ©õv› ©õÖ£õmøhU 

PshÔ¯Ä® {2, 6, 12, 15} 

 (C) uμÄz öuõS¨¤ß Áμ®¦ ©ØÖ® SnP® {8, 

12, 5, 6, 8, 2, 15} 
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14. Discuss in detail various methods of finding 
seasonal variations. 

 £¸ÁPõ» ©õÖ£õkPøÍU PshÔ²® £À÷ÁÖ 
•øÓPøÍ¨ £ØÔ Â›ÁõP¨ ÷£_[PÒ. 

15. Given below are the data relating to the 
production of sugarcane in a district. Fit a straight 
line trend by the method of least squares and 
tabulate the trend values. 

Year  2000 2001 2002 2003 2004 2005 2006
Production  40 45 46 42 47 50 46 

 J¸ ©õÁmhzvÀ P¸®¦ EØ£zv öuõhº£õÚ 
uμÄPÒ R÷Ç öPõkUP¨£mkÒÍÚ. SøÓ¢u£m\ 
ÁºUP •øÓ°ß ‰»® ÷|º÷Põmk¨ ÷£õUøP¨ 
ö£õ¸zv, ÷£õUS ©v¨¦PøÍ 
AmhÁøn¨£kzuÄ®. 

Á¸h® 2000 2001 2002 2003 2004 2005 2006
EØ£zv 40 45 46 42 47 50 46 

16. Calculate fisher’s price index number and show 
that it satisfies both time reversal test and factor 
reversal test for data given below. 

Commodity  Price  Quantity  
 2003 2009 2003 2009

Rice  10 13 4 6 
Wheat  15 18 7 8 
Rent  25 19 5 9 
Fuel  11 14 8 10 
Miscellaneous  14 17 6 7 
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 L¤å›ß Âø»U SÔ±mk GsønU  PnUQmk, 

R÷Ç öPõkUP¨£mkÒÍ uμÄPÐUPõÚ Põ» ©õØÖa 

÷\õuøÚ ©ØÖ® Põμo ©õØÖa ÷\õuøÚ BQ¯ 

Cμsøh²® Ax GÆÁõÖ v¸¨v¨£kzxQÓx 

Gß£øuU PõmhÄ®. 

ö£õ¸Ò Âø» AÍÄ 

 2003 2009 2003 2009

A›] 10 13 4 6 

÷Põxø© 15 18 7 8 

ÁõhøP 25 19 5 9 

G›ö£õ¸Ò 11 14 8 10 

Cuμ ö\»ÄPÒ 14 17 6 7 

17. A survey was conducted in your city. Given is the 
following sample data containing a person’s age 
and their corresponding income. Find out whether 
the increase in age has an effect on income using 

the correlation coefficient formula. (Use 1811  as 

0.074 and 20911  as 0.07) 

Age  25 30 36 43 

Income  30,000 44,000 52,000 70,000
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 E[PÒ |PμzvÀ J¸ PnUöPk¨¦ |hzu¨£mhx. 
J¸ |£›ß Á¯x ©ØÖ® AuØPõÚ Á¸©õÚ® 
Ah[Q¯ ¤ßÁ¸® ©õv›z uμÄ 
öPõkUP¨£mkÒÍx. öuõhº¦ SnP® `zvμzøu¨ 
£¯ß£kzv Á¯x AvP›¨¦ Á¸©õÚzvÀ 
uõUPzøu HØ£kzx©õ Gß£øuU PshÔ¯Ä®. 

( 1811 I 0.074 BPÄ® 20911 I 0.07 BPÄ® 
£¯ß£kzuÄ®) 

Á¯x 25 30 36 43 

Á¸©õÚ® 30,000 44,000 52,000 70,000 

——————— 



  

 

 

U.G. DEGREE EXAMINATION – JULY, 2022. 

Corporate Secretaryship  

(From CY – 2020 onwards) 

Second Year 

BUSINESS CORRESPONDENCE & SECRETARIAL 
PRACTICE 

Time : 3 hours Maximum  marks : 70 

PART A — (3  3 = 9 marks)  

Answer any THREE questions each in 100 words. 

1. Define Business Correspondence. 

 ÁoP Piuzøu Áøμ¯ÖUPÄ®. 

2. What do you mean by collection letters? 

 ÷\P›¨¦ Piu[PÒ Gß£uß Aºzu® GßÚ? 

3. What are the qualifications of company secretary? 

 {ÖÁÚ ö\¯»õÍ›ß uSvPÒ GßÚ? 

4. Briefly explain the concept of secretarial 
procedure. 

 ö\¯»P |øh•øÓ°ß P¸zøu _¸UP©õP ÂÍUSP. 
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5. Discuss in short the concept of company meetings. 

 {ÖÁÚ Tmh[PÎß P¸zøu _¸UP©õP 

ÂÁõvUPÄ®. 

PART B — (3  7 = 21 marks) 

Answer any THREE questions each in 200 words. 

6. Write short notes on the principles in drafting 
business letters. 

 ÁoPU Piu[PÒ ÁøμÁvÀ EÒÍ ÷Põm£õkPÎÀ 

]Ö SÔ¨¦PøÍ GÊuÄ®. 

7. Explain the content of drafting a report. 

 AÔUøPø¯ ÁøμÁuß EÒÍhUPzøu ÂÍUPÄ®. 

8. What do you mean by transfer and transmission? 

 Ch©õØÓ® ©ØÖ® £›©õØÓ® Gß£uß ‰»® }[PÒ 

GßÚ ö\õÀQÕºPÒ. 

9. What are the liabilities of company secretary? 

 {ÖÁÚ ö\¯»õÍ›ß ö£õÖ¨¦PÒ GßÚ? 

10. Describe the procedures for conducting company 
meeting. 

 {ÖÁÚ Tmhzøu |hzxÁuØPõÚ |øh•øÓPøÍ 

ÂÁ›UPÄ®. 
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PART C — (4  10 = 40 marks) 

Answer any FOUR questions each in 500 words. 

11. Explain in detail various types of business letters. 

 ÁoPU Piu[PÎß £À÷ÁÖ ÁøPPøÍ Â›ÁõP 

ÂÍUPÄ®. 

12. Write a letter to ram company to apply for the 
salesman post. 

 ÂØ£øÚ¯õÍº £uÂUS Âsn¨¤UP μõ® 

{ÖÁÚzvØS J¸ Piu® GÊuÄ®. 

13. Describe in detail the powers and rights of a 
company secretary. 

 J¸ {ÖÁÚ ö\¯»õÍ›ß AvPõμ[PÒ ©ØÖ® 

E›ø©PøÍ Â›ÁõP ÂÁ›UPÄ®. 

14. Discuss in detail the concept of forfeiture and 
surrender of shares. 

 £[SPøÍ £Ô•uÀ ö\´uÀ ©ØÖ® \μnøhuÀ £ØÔ¯ 

P¸zøu Â›ÁõP ÂÁõvUPÄ®. 

15. What do you mean by annual general 
meeting and extra ordinary meeting? 

 Á¸hõ¢vμ¨ ö£õxU Tmh® ©ØÖ® A\õuõμn©õÚ 

Tmh® Gß£uøÚ ÂÍUSP. 
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16. Explain the content of letter of enquiry. 

 Â\õμønU Piuzvß EÒÍhUPzøu ÂÍUPÄ®. 

17. State and explain the essentials of a good business 
report. 

 J¸ |À» ÁoP AÔUøP°ß Azv¯õÁ\¯[PøÍU 

TÔ ÂÍUPÄ®. 

  

–––––––––––– 
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BANKING THEORY, LAW AND PRACTICE 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE of the following each in 300 words.  

1. Explain briefly the concept of Branch Banking. 

 QøÍ Á[Q°ß P¸zøu _¸UP©õP ÂÍUS[PÒ. 

2. What do you mean by RBI? 

 RBI Gß£uß Aºzu® GßÚ? 

3. Write short notes on Bankers lien. 

 Á[Q¯õÍ›ß E›ø© SÔzx ]Ö SÔ¨¦ GÊx[PÒ. 

4. What is Endorsement of cheque? 

 Põ÷\õø» J¨¦uÀ GßÓõÀ GßÚ? 
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5. Who is last Lender Resort? 

 CÖv {ø»U Phß D÷Áõß Gß£Áº ¯õº? 

PART B — (3 × 7 = 21 marks) 

Answer any THREE of the following  

6. Differentiate the concept of deposit Banking and 
commercial Banking. 

 øÁ¨¦ Á[Q ©ØÖ® ÁoP Á[Q°ß P¸zøu 

÷ÁÖ£kzx[PÒ. 

7. Explain the characteristics of Banking system in 
India. 

 C¢v¯õÂÀ Á[Q •øÓ°ß ]Ó¨¤¯À¦PøÍ 

ÂÍUS[PÒ. 

8. Elucidate the essentials of a valid cheque. 

 \›¯õÚ Põ÷\õø»°ß Azv¯õÁ]¯[PøÍ 

öuÎÄ£kzuÄ®. 

9. What are the procedure to open a Bank account? 

 Á[QU PnUøPz vÓ¨£uØPõÚ |øh•øÓ GßÚ? 

10. Define stock exchange securities with its features. 

 £[Sa \¢øu¨ £zvμ[PøÍ Auß A®\[PÐhß 

Áøμ¯ÖUPÄ®. 
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PART C — (4 × 10 = 40 marks) 

Answer any FOUR of the following.  

11. Explain in detail various methods of credit control. 

 Phß Pmk¨£õmiß £À÷ÁÖ •øÓPøÍ Â›ÁõP 

ÂÍUPÄ®. 

12. Discuss in detail the functions of RBI. 

 ›\ºÆ Á[Q°ß ö\¯À£õkPøÍ Â›ÁõP 

ÂÁõvUPÄ®. 

13. Define the term "Deposits". Explain its various  

 øÁ¨¦PÒ GßÓ ö\õÀø» Áøμ¯ÖUPÄ®. Auß 

£À÷ÁÖ ÁøPPøÍ ÂÍUPÄ®. 

14. Elaborate in detail various statutory protection to 
the collecting banker. 

 ÷\P›US® Á[Q¯õÍ¸US £À÷ÁÖ \mh¨§ºÁ 

£õxPõ¨ø£ Â›ÁõP ÂÍUPÄ®. 

15. Write Short notes on 

 (a) Supply Bills 

(b) Pledge 

 (c) Cash Credit 

 ]Ö SÔ¨¦PøÍ GÊx[PÒ 

(A) Â{÷¯õP ©÷\õuõ 

 (B) EÖvö©õÈ 

(C) £nÁμÄ 
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16. Explain in detail functions of Commercial Bank. 

 ÁoP Á[Q°ß ö\¯À£õkPøÍ Â›ÁõP ÂÍUPÄ®. 

17. What are the obligations to honour a cheque 
Explain. 

 J¸ Põ÷\õø»ø¯ ©vUP ÷Ási¯ Phø©PÒ GßÚ? 

ÂÍUSP. 

__________ 


